
 

  

VECTOR PROBLEMS 

 
www.mathsbox.org.uk 

A 

(
5

−3
) 

A is the point (2, 5). B is the point (-1,3) 

and C is the point (6, -1) 

 

What is the column 

vector 𝐴𝐵⃗⃗⃗⃗  ⃗ ? 
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B 

(
−6
   2

) 

 A is the point (2, 5). B is the point (-1,3) 

and C is the point (6, -1) 

 

What is the column 

vector 𝐵𝐴⃗⃗⃗⃗  ⃗ ? 
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C 

(
−5
13

) 
 

p = (
   1
−3

)         q = (
2
0
)      r = (

−2
  5

)  

 

Calculate 

p + 2q 
 

 



 

  

Find the vector (
𝑥
𝑦) 

 

 

(
𝑥
𝑦) - (

4
−2

) =  (
1
1
) 
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D 

(
−3
  3

) 

 



 

  

p = (
   1
−3

)         q = (
2
0
)      r = (

−2
  5

)  

 

Calculate 

2p - q 
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E 

(
   5
−13

) 
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F 

(
  4
−6

) 

 Express the vector 

shown as a column 

vector 

 



 

  
A is the point (2, 5). B is the point (-1,3) 

and C is the point (6, -1) 

 

What is the column 

vector 𝐴𝐶⃗⃗⃗⃗  ⃗ ? 
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G 

(
−4
  6

) 

 



 

  

p = (
   1
−3

)         q = (
2
0
)      r = (

−2
  5

)  

 

Calculate 

p – 2r 
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H 

(
−4
−5

) 

 



 

  

Express the vector 

shown as a column 

vector 
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I 

(
4
5
) 

 



 

  

Find the vector (
𝑥
𝑦) 

 

 

(
𝑥
𝑦) + (

𝑥
5
) =  (

12
−1

) 
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J 

(
2
0
) 

 



 

  
 

Find the vector (
𝑥
𝑦) 

 

 

(
𝑥
𝑦) - (

−2
−3

) =  (
0

−3
) 

 

VECTOR PROBLEMS 

 
www.mathsbox.org.uk 

K 

(
   6
−2

) 

 



 

  

Find the vector (
𝑥
𝑦) 

 

 

(
𝑥
𝑦) + (

−2
−3

) =  (
 0
−3

) 
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L 

(
   3
−5

) 

 



 

  
A is the point (2, 5). B is the point (-1,3) 

and C is the point (6, -1) 

 

What is the column 

vector 𝐶𝐴⃗⃗⃗⃗  ⃗ ? 
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M 

(
3
2
) 

 



 

  

 

Write down the vector 

that is in the same 

direction as  (   6
−2

)   but is 

3 times as long    
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N 

(
   6
−6

) 

 



 

  

p = (
   1
−3

)         q = (
2
0
)      r = (

−2
  5

)  

 

Calculate 

2r - p 
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O 

(
5

−1
) 

 



 

   

Write down the vector 

that is in the opposite 

direction as  (   6
−2

)   and is 

3 times as long    
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P 

(
−3
−2

) 

 



 

  

 

Write down the vector 

that is in the opposite 

direction as  (−3
  1

)   and is 

2 times as long 
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Q 

(
18
−6

) 

 



 

  

Find the vector (
𝑥
𝑦) 

 

 

(
𝑥
𝑦) + (

4
−2

) =  (
1
1
) 
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R 

(
   0
−6

) 

 



 

  

Find the vector (
𝑥
𝑦) 

 

 

(
𝑥
𝑦) + (

2
5
) =  (

5
0
) 
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S 

(
−18
   6

) 

 



 

  

 

Write down the vector 

that is in the same 

direction as  (−3
  1

)   and is 

2 times as long 
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T 

(
−2
−6

) 
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